A bevezet 6 szakaszt lezar6 tajékozodo merés eredménye (3. évf

, INF) 4=4sz6g, 3 =3sz6g, t=tégla, H=haz T=torony V=var

4.a

4.0

4.c

4.d

elijaras |szan|id6 |Ossz eljaras |szamidé |0ssz eliaras |szamid6é |Ossz elijaras |szan|id6 |0ssz
4 1| 4:26 57 43 1| 7:21] 39 - 1| 2:27| 17 lezarta 1 kilepett
2| 4:36 72 43 2| 441 34 4 2| 10:19( 13 43T 2|kilepett

- 3| 3:14| 33 4 3| 5:45| 74 43 3| 6141 31 4 3| 4:06 65

- 4| 5:13| 33 43HtT 4] 6:07| 52 43 4| 6:28/ 59 4 4

- 5[ 6:17 39 4~~ 5[ 5:28] 69 - 5( 9:44| 38 lezarta 5( 4:49 42

43 6| 3:40| 90 4 6| 3:26] 43 43 6| 856| 40 4 6| 7:35| 47

4 7| 6:34 54 43 7| 7:35| 38 4 7 kilepett 4 7| 4:40 81

4 8| 4:17| 40 4~~ gl 9223 35 - 8| 8:06] 31 43 8| 6:36 19

4 10| 7:31 45 4 9] 9:28/ 35 4 9| 9:12| 17 - 9lkilépett

- 11| 5:30 20 4~~ 9] 9:36] 20 lalak 4~ 10| 6:27| 55 A3tTHV | 10| 4:57 82

43H 12| 6:44 64 43 10| 4:49| 37 4 11| 6:35[ 42 lezarta 11| 4:11 82

4 13| 6:.01] 55 4~~ 3~~ | 11| 6:33| 53 4 12| 10:48 28 43T 12| 6:51 60

4 14| 830 37 - 12| 831 43 4 13| 6:35| 45 43T 13| 7:37 45

- 15| 4:38] 41 43 13| 6:21| 68 4 14| 521 22 43T 14| 5:06 62

- 16[ 10:24| 29 43 14| 846 56 4 15| 9:58] 39 43H 15| 3:22 80

4 17| 6:24| 59 4 15| 5:23 3 4 16| 9:38| 43 43T 16| 5:28 73

43H 18 6:26] 48 43 16( 11:08| 14 43H 17 8:20| 41 4~ 17| 4:32 92

4 20| 5:04| 65 - 17( 11:09|? 43 18| 3:33| 72 43 18| 10:00 32

4 21| 749 41 4 18[ 10:49| 24 43 20| 9:15| 52 4~ 20| 8:36 46

4 22| 5:36 39 43tTHV | 20| 6:01] 55 43H 21 [ilépett fuzet 21 kilepett

- 23| 4:55 47 4~ 21| 6:10[ 68 43 22| 6:47| 46 lezarta 22| 5:38 61

4 24| 5:09 57 43H 22| 5:42| 37 43 23| 5:.01| 56 ism[ ] 23| 5:22 77

3 25| 4:02 31 A~~ 23 kilépett 43 24 kilepett 4~ 24| 541 71

43 26| 1:45| 66 4 3~~ 24| 527 62 43 25| 7:19[ 50 4 25| 4:51 61
Babiczkyhianyzo 43 25 6:18] 59 43 26 7:19| 64 A~ 26 7:33 47
Fodor T4hianyzo 43 26| 8:01| 55]Kiss Dofhianyzo lezarta

- 3:35|  87]Lengyel[hianyzo Szamof{hianyz6
43tTHV 4.02| 63




